5124 — EXPERT 2017 — PRESENT/SONRASI
PRODUCT/URUN : 850 — AB - NS




M6 =10Nm
M8 =25 Nm
M10=50Nm

A, b,
&, ></
ITEM/NO PART NAME/PARCA ADI QTY/ADET
] 512475080 - DRIVER ]
2 512475081 - DRIVER ]
3 5124750C0 - DRIVER ]
4 5124750C 1 - DRIVER ]
5 5124750F0 - DRIVER ]
6 DIN 6921 - M10 x 25 x 25-N 4
7 Hﬁxogon Flange Nut DIN 6923 - M10 4
8 HTC 238 - M10x25(4x20x60) 2
1% HTC 269 - CLIPS (M10) 8
10 HTC 226 - M8X30 (4X10X37) 4
11 HTC 271 - CLIPS (M8) 4
12 HTC 230 - M10x25 4
13 HTC 262 - M10X30 (5X15X60) 2
14 512475080 - PASSENGER ]
15 5124750F0 - PASSENGER 1
16 5124750C 1 - PASSENGER ]
17 5124750B1 - PASSENGER ]
18 5124750C0 - PASSENGER ]







.’—
e ——

YT LLL

T i

-
i pmail




ANNNNR -
——

J

, ==

i @

) _ B
L T

¥ 4 T N R e —
LT




5124 — EXPERT 2017 — PRESENT/SONRASI




